daglyl) s yal) —dpaalaall anid
:U.J\A\J‘ :U..uh.d\

A i) Jacail

(9 ) dpalaall
Adlacd ) clij)gall

Capital Budgeting

A Gauallie a2




%Jm\ Qe g puia gé Ll daliall J) g JLASL.AQ S ) ﬁfﬂ L "L
BN (8 Lia g ¢ cile g pdiall 03a (e Ml ge (381 Ciagy Investments Projects

aladiody (alaii L2l g Ja) Al gha 4 jlafiiad) e g pdiall anil ddes ) zlias
,dl.d\uale.A:ﬁub

Gualaal) Candy LA g ¢ Allanad ) A5 )) gally 4y lafiiead) <l ) 811 anl ddes o g
Cyﬁ&ljkﬂ\eh\hud\%umm Q&JM\%@M‘”A?& 299 g
(P siad) 4083 i) gad) ) il ) 5 (o baliat) g pdeall Aiasal) CAMISE) ks JMA

b3 At afi ey ALY 0 pas § 550 A £ g piall 138 (e Ll J puanl) a8 giall
;L“,J:\Las\g‘\l\d\#\\g@JLAS"MY\&JM\#\SSA&M‘,\*U&Jc%JmY\wﬂ\

il Alal) 488 el g ;| nitial Costs golaiiad) £ g pall dasal) cagilsil) -]
S8 Bl ¢ o) Hadl jra ) Qa5 L) £ g piall Ay A i pal
g 9dall o i pali 5 A e Ayl ¢ W e 9 Adagill g p g 1) Jla aladin)
( ‘gJLQ:.'\".\MY\
&) (auzlilg :Revenues ((Axdgiall ail gl ) g lalind) £ g piall i) ) -2
. SN £ g piall (ra LghiBan a8 gia il ) gl Al g

JSENL g anil) (§ gl gaa) aladiady andil) Aylas T Cila) ) g CALSEN paad ey

: A

38wl Cany (g bakiedd £ 9 peia) Ban) g Ay jlaica) a3 AS ) alal QIS I -
Accept or Refuse 4cad o 4l g8 g £ g pdiall (IS ¢ pastg £ g pudiall

) g e g pdiall o2 Al qang 4y el o b Bas AS Had) ala) IS 13 -
A il & L) e g phiall a5 o5 () 580 Lga 51 g i Ly
(Lie B g (1) Letialad) 38 9 Ranking

2 daiall




;Qﬁnw@dﬂ\ohmcéJm\ajﬂé\ﬁmemgﬁS&ﬁ&
: dglidl) gkl A gana-]
dﬂ\b:\bFA\C)AJGQM\Q@&\@JA&MYQA\&#‘@J

Payback Period A1 i) 5 yi8 u.uh _
Accounting Rate of Return ( ARR)  (sslaall ailal) Jara 48y o -

diukl) oda O 9 ¢ da guadial) 454810 Q@ﬂ\@@amgﬂ\ dﬂ\:\sw-z

Net Present Value ( NPV) Adlad) Aadl) s u.uh -
Internal Rate of Return ( IRR) (ARl dilal) Jana 48yl -

3 daiall




A3 N 5458 Al jha
Payback Period

Cra (5 ) £ g pdiall A4S pla a4 U 3 il aludaly a gli 48, jhl) oda (33
03y a0 il 3o ludialy a gl sl ¢ Ada LB ad gial) eyl oy A
Cra (B8 AL ol ) MR (e g L) £ g piall (B o jlaliiuid a3 (s A1) Adual)
,a\aJhY\SJﬁst\ahMJ‘@JM\

Al Aslaall aladiad ¢Say Uniform ((Aakiiia ) 4 gluda cila) ) cuils |3l
+ 303 sl 338 ludiay

ngY\&jﬂsd‘m

= 33 ) 3 i
(6 shadiall (5 giuad) 3 Y

Investment Cost
Payback period = --------------mmemmmem oo
Annual Revenue
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Example:

A Company has two investment opportunities. The cost of

investment in each project is $60000 and the following is the

expected revenues from the two projects:

Years Project A Project B
1 20000 16000
2 20000 14000
3 20000 20000
4 20000 20000
5 20000 40000

Required: Calculate the payback period for the two projects.
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1 20000 16000
2 20000 14000
3 20000 20000
4 20000 20000
5 20000 40000
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Project (A) :

Investment Cost
Payback period = --------------- oo
Annual Revenue
= 60000 / 20000

=3 Years
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Project (B ) :

First year 16000 $

+ Second year 14000 $
+ Third year 20000 $
50000 $
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Payback period for project (A)
Payback period for project (B)
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3 Years

3 Years and 6 months

JB) A i) 358 oY A Sl e

6 daiall




Example:
A Company has three investment projects as follows:

Information Project X Project Y Project Z
Investment Cost 1000000 1500000 2000000
Revenues:

Year 1 400000 400000 500000
Year 2 300000 400000 600000
Year 3 200000 400000 750000
Year 4 200000 400000 450000
Year 5 250000 400000 500000
Year 6 350000 400000 400000
Year 7 250000 | e—m | -

The management of the company has determined a period of

three years and six months as a payback period for all

Investment projects.

Required: Evaluate the three projects by using the payback

period method and which project is the best?
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4ol ) 300000 400000 600000
JAEN 4l 200000 400000 750000
daal ) Al 200000 400000 450000
dasalad) Aa) 250000 400000 500000
dcalud) ) 350000 400000 400000
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Payback period for ( X ):

Year 1 400000 $
Year 2 300000 $
Year 3 200000 $
900000 $
Fromyear 4 100000 /200000 =0.50 (12*0.50) =6 Months

Payback period = 3 Years and 6 Months

Investment Cost
Payback period for (Y ) = --------m-mmmmmmmoeee e
Annual Revenue

= 1500000 / 400000
=3 and 0.75

=3 Years and 9 Months

Payback period for ( Z):

Year 1 500000 $

Year 2 600000 $

Year 3 750000 $
1850000 $
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From year 4

150000 / 450000 = 0.33 ( 12*0.33) = 4 Months
Payback period = 3 Years and 4 Months
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Projects | Calculated | Determined | Accept or | Ranking
Period Period Refuse
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Project X | 3 Years 3Years | Accepted | Second
and 6 and 6 Jsda A
Months Months
Project Y | 3 Years 3 Years Refused |  ------
and 9 and 6 O 98 4
Months Months
Project Z | 3 Years 3 Years | Accepted First
and 4 and 6 Jga Jo¥)
Months Months
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